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General Instructions :
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2.
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Candidate must write his/her Roll Number on the first page of the question paper.

Please check the question paper to verify that the total pages and total number

of questions contained in the question paper are the same as those printed on

the top of the first page. Also check to see that the questions are in
sequential order.

For the objective type of questions, you have to choose any one of the four

alternatives given in the question i.e. (A), (B), (C) or (D) and indicate your correct

answer in the answer-book given to you.

All the questions including objective type questions are to be answered within

the allotted time and no separate time limit is fixed for answering objective type

questions. '

Making any identification mark in the answer-book or writing roll number

anywhere other than the specified places will lead to disqualification of the

candidate.

Write your question paper code No. 34/HS/3—A on the answer-book.

(@) The question paper is in English/Hindi medium only. However, if you wish,
you can answer in any one of the languages listed below : ‘
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri,
Sanskrit and Sindhi. .
You are required to indicate the language you have chosen to answer in
the box provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
question will be yours only. PT.O.
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g yeE B emushl 9R fawedl (A), (B), (C) a1 (D) § ¥ % Th SW
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FEfTe gl & fau sem ¥ wma Ad femn s
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®WE I

(@) afe o9 &St wa st & stfafed fordt o= 9on § S foma & @
G¥9 h! HFT H BH arell Afed/mafadl wt el sheae sdeR! g |
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Time : 3 Hours] [Maximum Marks : 100
g ;3 Hud] [quies : 100
Note :— (1) All questions are compulsory.

(i1) Marks allotted to each question are indicated against it.

(iiz) Each question from Q. Nos. 1 to 8 has four alternatives
(A), (B), (C) and (D) and out of which one is the most
appropriate. Select the correct answer and write it in your

answer-book against the number of question.
feer :— () | oy & s dfd
(i) Y% YT & 3% IS GH U T ¥
(iii) TGS Y9 HAH 1 ¥ 8 T, TS Y § AR dhicdsh N
(A), (B), (C) 3R (D) g3 M & 578 & w& @l a1 waiftush 3f=d

T | TE W Y a9 oo SW-gfe § S8 YYT wHe & 9
feferd |

1. Production is the result of joint contribution of : 1
(A) land and labour
(B) labour, capital and entrepreneurship
(C) land, labour, capital and entrepreneurship

(D) labour and capital
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Scaed T uEl & G99 wArEl &1 9Rom B ¥ 2
(A) 4fF &R #m

(B) %M, Usit qa 3=H

(C) 9fF, sm, 4t qen 3=

(D) &9 den ¢St

2.  Which one of the following is a basic human want ? 1
(A) Television (B) Books
(C) Shelter : (D) Cycle
freafafed 8 § S TF god 9HdE Evasd §
(A)  efifasH (B) 9=+
(C) =™ (D) wEfha
3.  Which one of the following is an economic activity ? 1

(A) A singer singing in a concert

(B)  Mother cooking food at home

(C) A carpenter repairing his own table
(D) Growing tomatoes in a kitchen garden
frfafad # ¥ s onfdw fear § 2

(A) TH TE® g HId HA H MEA

(B) W W W H @M YHM

(C) v g N B & A

(D) W & = H THRI I

4. The different types of goods and services required by increasing
population are : 1
(A) Dbasic necessities
(B) comforts and luxuries

(C) public utility services
(D) all of the above

214/34/HS/3-A 4



Jedl ¢ SHEEAT Hl 6T YHN i aggef iR Fared i savadd gt € 7
(A)  HAYd SIIIHAT

(B) Hfaureprl wd faenfadag=es a&qy

(C) WS gfawr dand

(D) Suds T

5. Big volumes of goods from India to America are sent by : 1
(A)  Trucks (B) Cargo ship
(C) Goods train (D) Aeroplanes

gRd ¥ e w1 9t wEn § g fefafes § @ fegs gr 9 S
T 7

(A) % (B) WIoEEl ST
(C) el (D) ®aTE STl
6. We buy goods and services : 1

(A) for consumption

(B) for production of goods

(C) for production of services

(D) all of the above

T L AR Fansli ® THRR HW T o
(A) 394 & ferd

(B) wgell & 3ccd & fo

(C) Fasdl & 3IdRA & o
(D) 3w gt & fe
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Which one of the following is not a central problem of an

economy ? 1
(A)  What to produce

(B)  When to produce

(C) How to produce

(D) For whom to produce

fafafea § 9 wad fodl sdsqeawa &1 $<9 99 T8 & 7

(A) N IEA TR S

(B) whd 3IUEA fwan S

(C) 9 3dRA fF @

(D) fwgas fau 3crca fen S

Disguised unemployment means : 1

(A)  the situation of unemployment due to demand deficiency in the
economy

(B).unemployment due. to change. in ;ﬂdustrial structure

(C)

unemployment due to change j



Distinguish between a desire and a want with a suitable example. 2




16. State the role of planning in solving central problems of an

economy. 2

AT H Hsrd G w1 gAgH H S w1 F qfFed § 2

17. National income of a country is Rs. 100 crores. Its total population
is 10 lakhs. What is per capita income of the country ? 2
TH 39 H TLE AT 100 FAS T9F & | $HHI HA 9@ 10 @ T |
9 ® wid =R e faad @t 2

iny two harmful effects of noise pollution. 2 18. State :
O G HE G OEHeRs gwe fated eI L
uish between : 4 19. Disting
,conomic and Non-economic wants; - (a) [
rdividual and Collective wants, (b) 1
d oot fafed frefaf
M @ TR-enfded  eavgean; (31) @
TfeRTTd IR ATfedh  STEvashard | () =
re the public sector units classified in India ? Explain with 20. How a

o A avamn
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22. State and explain the Law of Demand. , 4

24. What is meant by private sector ? Why is private sector considered
TripUTtaLe” i~ econonnd “uebelopmént ur iiiid 7 Give' three reasons.4

BT T AT AY 6’-‘ 7 W#aﬁﬁmrﬁﬁﬁ?ﬁﬁww

What is poverty line ? How is poverty line fixed ?
e Y F@ B 77 e Y@ #w fuRe &9 da 72

27. Distinguish between developed and developing countries. 4

fosfad iR fohraeiia <ol 4 s ®Ifsd

'28. What is a patent ? State the criteria to be satisfied for an invention

to be patentable. ' 4
T | ¥ 7@%@%%@@@?%%@%
=fed ?

29. Suggest ariy four measures to check environmental problems. 4

whr@awwaﬁmﬁasrmqﬁ%‘ﬁﬁaﬁs‘wmw

30. Do you agree that the growth of human wants led to resource dépletion ?

Give reasons. 4
wmmmﬁm%ﬁwm@aﬁqﬁg@wmm
T 7 WO gAY |
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31.

34.

IMame the five categories of production units on the basis of
scale of production. Explain the basis of classification of production
units. > 6

Wﬁ?ﬁaﬁﬁuﬁ?ﬂswwhﬁﬁammaémﬁﬁmﬁ#ﬁ@&l

-

IS SHEAT S IR0 % SMYT B SATSHl hifed |

Explain any‘ four economic factors which affect distribution of goods
and services. ' 6
Waﬂ%ﬁ?ﬁm@ﬁaﬁfaﬁwwmgwﬁamﬁmé1mwaﬁh
el TEIED |

What are the consequences of rapid population growth in India ?
Lxmam : | 6

?ﬁamqﬁ;ﬁwqﬁ'ﬂm%’7wl@m RIS |

Explain any four main characteristics of a mixed economy. 6

fafsm srdoqaeen =t f<l ar Ter fvael #1 wHeEd
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